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1. #H (1, 3, -4)& magnitude(27)& +#5t1, normalize (& rt2hstzt.

2. HIE (1,5, -8)2 magnitude(3A7[)& T3+, normalize ("2}t

-IH

BIE (1, 3, -4)2F (1, 5, -8)2| AIO| Zi(degree)= AlLHSHA|2.

4. = & (1,3, -42 (1, 5, -8) AIO|2] distance(HE)E AlASHA| L

5. & HEH (1,3 -4)2 (1,5, -8)2| cross-product (2/&)2 A LHSIAIL.
6. & HH (1,3, -4)2 (1, 5, -8)2 dot-product (L{X)S HLtSHA| 2.

7. HH v (xy 27t n(1, 1,00 BH vt v.E AL
V=V|] +VL

8. OF2fl Matrix2| &5 ALISHAL.

1 1 0 0 1 1
1 0 0 3 V2 2 1 0 0 O V2 V2
0O 1 0 3 1 1 0 0 0O -1 0 O 1 1
0O 0 1 0 _E 5 0O 0 -1 0 E ﬁ
0O 0 0 1 0 0 1 0 0 O 0 1 0 0

0 0 0 1 0 0

9. Otz Matrix2| &= ALHSHA|L.

1 0 2 )cosd4s —-sind5 O0)1 O O) cosd4s sind5s O
O 1 =2 sin4d5 cos45 OO0 -1 O —-sind45 cos45 O
O 0 1 0 0 10 0 1 0 0 1

10. § Q(-2,1,2)2 ¥ x + 1 =00M 7}F 7p7t2 BEH H2 FAU7}?
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